X B T2

<k353v o>
1—& & 400mH 148 9:00 10—=%8 11o0mH 14 13:10
2—= 5 400mH  3#8 9:05 "M & B 110mH 24 13:15
3 B 1500m 1048 9:20 12—&= % 100mH 2% 13:25
4 Z 1500m 6#f 10:25 13 & & 100mH 2% 13:35
5—= 5%  400m 10#f 11:05 14—5 58 100m 18%#8 13:45
6 —= & 400m 4% 11:40 15—=% 100m 74 14:20
7 1 B  400m 5#f 11:50 16 F 5B 100m 18%#8 14:40
8 :3 3000m  4#H 12:10 17 & & 100m 214 15:20
9 T 3000m 148 12:55 18 B 5000m 1#f 16:20
<Z4—ILE>
(Bt B (FETE)
1—&x EEHk 9 9:30 1 7 F#EE(1.0ke) 13 9:30
1 B & EERk 44 9:30 1 & 5 P88 (1.75ke) 19 9:30
2—83 58 EEH% 18 11:00 1 & 5B F#E%(1.5ke) 9 9:30
2 t B EE Bk 62  12:00 2 & B Nnov—#%(6.0kg) 3  13:.00
3 & EEHK 10 13:00 2 —& & /\><7—3%(4.0kg) 3  13:00
4—55 =B 10 14:30
4—E =X =Bk 5 14:30
5 h B  EEB 8  15:00




